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lagr_asym_us_avg (ppb) 1D pull distribution
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lagr_asym_us_dd (ppb) 1D pull distribution
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1D pull distribution
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diff_bpm1X RMS (um)

2886.4.278
© N N NN ©

(wn) SNY

c'TvEY
TTvey
0'TvEY
v'orey
eovey
covey
Tovey
oovey
v'6eey
£'6EeY
ceeey
T'6EEY
0'6EEY
¥'8eey
£'8eey
z'8eey
T'8eey
0'8eey
v'ieey
gleey
cLeey
VA4
o'Leey
v'ogey
£'9gey
¢'9gEY
Togey
0'9gey
£'qeey
2'seey
T'SeEey
0'seeYy
cveey
Tveey
o'veey
v'eeey
eeeey
ceeey
Teeey
oeeey
ceeey
Teeey
oceey
eTeey
c'Teey
T'TEEy
o'TEEY
v'ocey
goeey
cogey
Toeey
o'ogey



5§ ° ° % 8 g g
@D © @ 0 o o
S =] < Hoog S e]
S o A = < -
+ + ~ H @ ]
s g Sy 8 7
2 & 2 o
g S % o — ©
S ¢ ]
- - .
clsg 5§ &8 3 2 & § E g
= <
sl 8 5 & %« 8§ = @& e
= ]
=] ~
b =
= .
B : J .
2 [ — — o
= |
Q N
o n
— ]
7
—¢
_________________________________________lom
o [ee] © < N o oo} © < N o
N — - - i -
I
16
O o
~ ©
oM N
1H
o
-
(o))
(o]
<
G—
©
e
~
N O
< Q|
IS
=
N
E
o
b_
=
©

150




diff_bpm1Y RMS (um)
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diff_bpm16X RMS (um)
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corr_us_avg_bpm4eX (ppb) 1D pull distribution
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1D pull distribution

+0.04847

0.009109

Mean

+0.03427

0.3495

Std Dev

Underflow

Overflow

5.439/2

X2 / ndf

34.64 +7.66

Constant

-0.06204 + 0.04521

Mean

0.2874 +0.0453

Sigma

0III|III|III|

6.356 / 51 R

843

X2 / ndf

+22.71

9

pO

g_bpm4aX (ppb)

corr_us_av

111 ____ _____ __+44ITﬂ++4I‘++4ITT++4J ____

o
(3]

o
o
N

100

o

-100

o
o
g

o

-30




g_bpm4aX RMS (ppm)

corr_us_av

c'TvEY
TTvey
0'TvEY
v'orey
eovey
covey
Tovey
oovey

[ ]

— v'6EEY
£'6EeY
ceeey
T'6EEY
0'6EEY
¥'8eey
£'8eey
z'8eey
T'8eey
0'8eey
v'ieey
gleey
cLeey
VA4
o'Leey
v'ogey
£'9gey
¢'9gEY
Togey
0'9gey
£'qeey
2'seey
T'SeEey
0'seeYy
cveey
Tveey
o'veey
v'eeey
eeeey
ceeey
Teeey
oeeey
ceeey
Teeey
oceey
eTeey
c'Teey
T'TEEy
o'TEEY
v'ocey
goeey
cogey
Toeey
o'ogey

_____
o
T}

(wdd) sny




+0.03054

0.001581

Mean

+0.02159

0.2202

Std Dev

Underflow

5.725e-07 /0
35.97 +7.15

Overflow
X2 / ndf
Constant

0.07072 + 0.07332
0.3253 + 0.0669

Mean
Sigma

1D pull distribution

2.522 /51 R
.25 +34.47

-3

X2 / ndf

p

g_bpm4aY (ppb)

corr_us_av

400

-200
-400|—



g_bpm4aY RMS (ppm)

corr_us_av

c'TvEY
TTvey
0'TvEY
v'orey
eovey
covey
Tovey
oovey
v'6eey
£'6EeY
ceeey
T'6EEY
0'6EEY
¥'8eey
£'8eey
p C'3EEY
T'8eey
0'8eey
v'ieey
gleey
cLeey
VA4
o'Leey
v'ogey
£'9gey
¢'9gEY
Togey
0'9gey
£'qeey
2'seey
T'SeEey
0'seeYy
cveey
Tveey
o'veey
v'eeey
eeeey
ceeey
Teeey
oeeey
ceeey
Teeey
oceey
eTeey
c'Teey
T'TEEy
o'TEEY
v'ocey
goeey
cogey
Toeey
o'ogey

________________
< N o ©
— — —

(wdd) sny



+0.09197
+0.06503
5.608/4

17.47 +3.44
-0.0592 + 0.0930
0.5672 + 0.0773

0.01382

Std Dev  0.6632

Mean
Underflow
Overflow
Constant
Mean
Sigma

X2 / ndf

1D pull distribution

24F

[ PRI ETETAT AR BTATATE AT P
E] © © < N o

22.88 /51 R
+146.5

-94.41

X2 / ndf
0

p

g_bpm1X (ppb)

corr_us_av

1000




g_bpm1X RMS (ppm)

corr_us_av

c'TvEY
TTvey
0'TvEY
v'orey
eovey
covey
Tovey
oovey
v'6eey
£'6EeY
ceeey
T'6EEY
0'6EEY
¥'8eey
£'8eey
z'8eey
T'8eey
0'8eey
v'ieey
gleey
cLeey
VA4
o'Leey
v'ogey
£'9gey
¢'9gEY
Togey
0'9gey
£'qeey
2'seey
T'SeEey
0'seeYy
cveey
Tveey
o'veey
v'eeey
eeeey
ceeey
Teeey
oeeey
ceeey
Teeey
oceey
eTeey
c'Teey
T'TEEy
o'TEEY
v'ocey
goeey
cogey
Toeey
o'ogey



1D pull distribution

g_bpm1Y (ppb)

corr_us_av

4 9~ o o o ®» o o
o o I - S
e S I
g3 3 3 & ¢
s o - o o 3 -
HoH b -
g o & 8 3 ]
g3 g 3
mo S © —
S T ]
H = -
.8 0§ & s §E . . A
§ = £ & - £ § 5 ]
= » S5 O < o = o -1
e —— ! —
. -
I T T S T NN N TR SR SR NN S SO T S NN SO R M T [ S N S S
[Te) o n o o o
N N - —
[ —_—— g
18 ®
0o ®
/_LJ. —_— i
0 N 1
o e
N~ +
5 N °
(0]
N 1®
(ce] _
s A
N °
@
®
@
— l eo—
Y O
© ®
c .
~ Py
NP =} o
< Q| °
@
Py
A
»
®
@&
Py
&
Py
&
®
@
—_—
Py
@
O
— e
Py
@
»
Py
@
Py
L
Py
@
Py
@
[ —— sa———
——i
Py
@
O
Py
@
Py
@
Py
@
°
_____ _ ___.._|T_|_|.|.|.||_.0._|T_|TTI|_|1_________ 1
OOO o o o o 0n
o o o o o o o
4321 J.n_/_%A__.I_




g_bpmlY RMS (ppm)
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g_bpm16X RMS (ppm)
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1D pull distribution
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1D pull distribution
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corr_us_avg_bpm12Y (ppb)
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corr_us_dd_bpm16X (ppb) 1D pull distribution
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corr_usl_bpm4eX (ppb) 1D pull distribution
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1D pull distribution
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1D pull distribution

pm1X (ppb)

corr_usl b

0 © ° ° ® @ N ~
= 3 N b 2 S
@ 3 I o 3 3
=] =] B H = c ©
o o - @ 5} H -
+ + 9 H > n
© 0 “ 5 ©
~ =2} o o -
B a 2 L
3 b S S -°
S 5 -
(=} -
H =
> S 2 “ = ]
< 8 5 2 2 g s g — <
g =z E e 3 s g 35 7
= 7] =) [e] > o = n M
o
f .
[ _— I PN
—— 1
. ]
=
_______________________________________|om
) © < N o © © < o~ =)
- - - - -
I —
14 =
Lo . — —
- © _]
N~ —_— e —
5™ _
.+_ — —
o —
SO | I — .
(o] —
(o] —
™ —_——— -]
| —
“— —
© —
c —
~ —
N =] ]
< Q] —
@ p—
®
— —_
] e - ‘ogey
________ 11 [ __________+_:_1q___2:_ :.___.:_.,F_.: 0°0EEY
o =) o o o
s} o s} =} % m % m 5.05_5.
o =] o o o o =} o o o —
@© © < ~N ~N <t © o0 | |



pm1X RMS (ppm)

corr_usl b

c'TvEY
TTvey
0'TvEY
v'orey
eovey
covey
Tovey
oovey
v'6eey
£'6EeY
ceeey
T'6EEY
0'6EEY
¥'8eey
£'8eey
z'8eey
T'8eey
0'8eey
v'ieey
gleey
cLeey
VA4
o'Leey
v'ogey
£'9gey
¢'9gEY
Togey
0'9gey
£'qeey
2'seey
T'SeEey
0'seeYy
cveey
Tveey
o'veey
v'eeey
eeeey
ceeey
Teeey
oeeey
ceeey
Teeey
oceey
eTeey
c'Teey
T'TEEy
o'TEEY
v'ocey
goeey
cogey
Toeey
o'ogey



400

BRI R

< ® o o < ;v o @ ©
502 5 2 5 g
8 & ] g 3
S S < Hoo9 S
S o o o 4 -
+ + 2w g n
3 o g o ]
8 S ]
2 m
T vmmfm m
c|l§ S ¥ 5 2 2 § ¢& ]
ol & 5 & % 8§ £ @& e
= ]
5 1
m -
= —
0 — 1 ]
o . -
= —r—
= R
o 1
o m
— ]
P (I I H (N TN SRR NN NN N SO SN S AR TS S H U S S N RN SR SR
o [Te) o 1o} o o o
o N N — —
I ®
- © ®
n = L
™ °
- L —
M -
8 H .
=3 ;.
00
: 1 o
(9] Lt
= *
© ®
c ] °
- o
N =] ®
< Q] °
| A4
o) ®
o
o
N
»
> .
Q °
o
! -
D L
2l
= L 4
8 4
(&
°
—1 e
—
10
hd @
L
] ___.._|.|.|.|IJ|.|.|_|.|._ _ ] hntiin
o S NOTNONT O
¥



pmlY RMS (ppm)

corr_usl b

c'TvEY
TTvey
0'TvEY
v'orey
eovey
covey
Tovey
oovey
v'6eey
£'6EeY
ceeey
T'6EEY
0'6EEY
¥'8eey
£'8eey
z'8eey
T'8eey
0'8eey
v'ieey
gleey
cLeey
VA4
o'Leey
v'ogey
£'9gey
¢'9gEY
Togey
0'9gey
£'qeey
2'seey
p1 SEEY
0'seeYy
cveey
Tveey
o'veey
v'eeey
eeeey
ceeey
Teeey
oeeey
ceeey
Teeey
oceey
eTeey
c'Teey
T'TEEy
o'TEEY
v'ocey
goeey
cogey
Toeey
o'ogey

_______________
< N o ©
— — —

(wdd) sny



3000

2000

1000

1000

2000

3000

4000

corr_usl_bpm16X (ppb)

—288.3 + 187.2

—
—

—|-|IIII|IIII|II

14

12

10

1D pull distribution

ﬁf

Mean -0.007875 +0.09321

Std Dev 0.6721+ 0.06591

€ 4

0

Underflow 0
Overflow 0
X2 I ndf 6.616/3
Constant 13.89 +2.48
Mean -0.1058 +0.1372
Sigma 0.7306 + 0.0936
ol
4 6 8




pm16X RMS (ppm)

corr_usl b

c'TvEY
TTvey
0'TvEY
v'orey
eovey
covey
Tovey
oovey
v'6eey
£'6EeY
ceeey
T'6EEY
0'6EEY
¥'8eey
£'8eey
z'8eey
T'8eey
0'8eey
v'ieey
gleey
cLeey
VA4
o'Leey
v'ogey
£'9gey
¢'9gEY
Togey
0'9gey
£'qeey
2'seey
T'SeEey
0'seeYy
cveey
Tveey
o'veey
v'eeey
eeeey
ceeey
Teeey
oeeey
ceeey
Teeey
oceey
eTeey
c'Teey
T'TEEy
o'TEEY
v'ocey
goeey
cogey
Toeey
o'ogey



1D pull distribution

X2 / ndf

pm16Y (ppb)

corr_usl b
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corr_usl_bpm12Y (ppb) 1D pull distribution

X2 7 ndf 32.5/51
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pO

—87.87 + 42.56 C

r - Std Dev 0.7905 + 0.07752

600

400
12 Underflow 0

200

- Overflow 0

[ L AT

0 I
Tt L
-200 ‘ l ‘ l l l ‘ J‘ l 1 l l | Constant 13.54 +2.49
I Mean 0.08164 +0.12132
—400 ] o r
- B Sigma 0.7855 +0.1043
-600 — I
-s00F— o
1000 |— I
C a-
...... o+
-III|III|I I||||||| ||II|II|

0
8 6 4 2 0 2 4 6 8



pm12Y RMS (ppm)

corr_usl b

_____
o
™

(wdd) sny

c'TvEY
TTvey
0'TvEY
v'orey
eovey
covey
Tovey
oovey
v'6eey
£'6EeY
ceeey
T'6EEY
0'6EEY
¥'8eey
£'8eey
z'8eey
T'8eey
0'8eey
v'ieey
gleey
cLeey
VA4
o'Leey
v'ogey
£'9gey
¢'9gEY
Togey
0'9gey
£'qeey
2'seey
T'SeEey
0'seeYy
cveey
Tveey
o'veey
v'eeey
eeeey
ceeey
Teeey
oeeey
ceeey
Teeey
oceey
eTeey
c'Teey
T'TEEy
o'TEEY
v'ocey
goeey
cogey
Toeey
o'ogey



o 1) ) ) © © o ~
g g > &8 8 3
= g » 3 3
+ ° @ >y °© b .
Loy S ]
g 8 = 8 3 .
3 = s —]
=] S
, C ]
H =
3 2 m k=1 m ©
c|l§ § &8 % £ &z §5 E
sl 8 5 & %« 8§ = @
= =
5 —
b -
s 3]
2 ]
© -
= .
o —]
(@) |
-
R R L 7
o o] o
-
[ —]
— (o)) ]
n - ———— —
.y =
L] |
SN _
o M ——— _
Lo N~ — -1
< PN -
— — i -
™ ——t— |
Y— —————— —
© — o — -]
c ——— _
~ —
=[><2 — le |
o —— —
o —_— —
~ | —— —
x —
— —_— —
— — —
e [P ———
a ———— —
b_ —_—l —
_ — — —
)] — —
> — i -
-l —! J
= —_— —
w —_— —
I —
—_—— —
—_— —
—— -
—— —
—— —
— —
—_— —
—— —
— o —— —
—_— —
—_—— —
—_——— —-
— —-
—_—— —_-
N TN NN R e rewn oy SRR
o o o o o o o o
S s 8 S ] 8 s
@ © < ~ ~ <t ©




pm11X RMS (ppm)

corr_usl b

______ _____________________________ﬂ

o o (@] o (@] o o o o
o [ce] © < N o [¢0) © <
N — — i —l —

(wdd) sy

c'TvEY
TTvey
0'TvEY
v'orey
eovey
covey
Tovey
oovey
v'6eey
£'6EeY
ceeey
T'6EEY
0'6EEY
¥'8eey
£'8eey
z'8eey
T'8eey
0'8eey
v'ieey
gleey
cLeey
VA4
o'Leey
v'ogey
£'9gey
¢'9gEY
Togey
0'9gey
£'qeey
2'seey
T'SeEey
0'seeYy
cveey
Tveey
o'veey
v'eeey
eeeey
ceeey
Teeey
oeeey
ceeey
Teeey
oceey
eTeey
c'Teey
T'TEEy
o'TEEY
v'ocey
goeey
cogey
Toeey
o'ogey



5 g ° ° =z g 8 8
& ] 2 s 8 8
= S 3 w8 S ©
(=] H ~ o =] H -
+ o e @ +H Py
= o g I} =1 N
8 8 = & b
g S g S — ©
S S E
S m
- - .
c|l§ ¢ & §8 £ z § ¢& =
= =
|2 3 5 & = 5 & ¢ ]
= ]
=} — N
m -
= —
2 t " — o
Ee] : ]
= =
= m
a =
o m
i .
7
—¢
___________________________________IoT
0 =) 0 o 0 =) 0 o
™ ™ « hd — =1
I
- o0
n -
ot
>
+I
™o
M S
N
(ee]
|
y—
©
c
~
N O
—~|>X
Qo
o
o
N
Y
—
—
o
o)
_
)]
5
a
o
o
(&

400




pml1llY RMS (ppm)

corr_usl b

c'TvEY
TTvey
0'TvEY
v'orey
eovey
covey
Tovey
oovey
v'6eey
£'6EeY
ceeey
T'6EEY
0'6EEY
¥'8eey
£'8eey
z'8eey
T'8eey
0'8eey
v'ieey
gleey
cLeey
VA4
o'Leey
v'ogey
£'9gey
¢'9gEY
Togey
0'9gey
£'qeey
2'seey
T'SeEey
0'seeYy
cveey
Tveey
o'veey
v'eeey
eeeey
ceeey
Teeey
oeeey
ceeey
Teeey
oceey
eTeey
c'Teey
T'TEEy
p0'TEEY
v'ocey
goeey
cogey
Toeey
p 0°'0EEY

_______________________
< o o © © < o~
— — —

(wdd) sny



1D pull distribution

Mean

Std Dev
Underflow

Overflow

1.805e-11/0

X2/ ndf

67.69 + 139.96

Constant

0.4492 + 0.7129
0.2513 + 1.2555

Mean
Sigma

|

...I...I...I..J .LI...I...I...

0/51 R

0

X2 / ndf

p

12.4

pm8X (ppb)

corr_usl b

100 —

50

-50

-100—




pm8X RMS (ppm)

corr_usl b

pCIVEY
T TVEY
PO TVEY
p ' OVEY
pE0OVEY
p CoveEY
T OvEY
pO'OVEY
p '6EEY
pE6EEY
pc6eEY
1 6EEY
p0'6EEY
p '8ECY
pE8EEY
pC'3EEY
p1'3EEY
p 0'8EEY
p v LECY
peLEEY
pCLEEY
T LEEY
pO°LEEY
p 'oEeY
pEocey
p COEEY
T OEEY
p0'9EEY
pESEEY
XAtz
T SEEY
p0'SEEY
pCvEEY
T VEEY
pO'vEEY
p 7' EEEY
pEeeey
pceeer
T EEEY
poeeey
pcceer
P cEEY
pO'ceer
peIEEY
A4
pL ICEY
pO'TEEY
p °0EEY
p£0EEY
pCOEEY
T 0EEY
p 0°'0EEY

S d 444 d 88 el dddddddddddddddddddddddddddddddddiddd

(wdd) siny

0



©o o o o o 9 o u
S ¢ 8 8
- o
uoow = 8 £ &
o o S  w o+ + .
o o o o -
= 2 g ¢ .
I S -
- & 3z . ¢ ]
@ T 2 B & © —]
s o & §T £ @ g ¢
c|l® = B2 ¢ 7 6§ & » 7]
|l & 5 &8 %« 48 = & E
= a
5 —
2 I
= ]
=
R =
o ooy
= .
o —
(@) n
i .
PRI [T SR W T (NN SN TN TN TN NN SO ST SR S NN S S S S N S S T N
[) o [) o o [S)
n < (] « =
[
— <
D o
-~
o
[ R
+
o
Y—
©
c
~
N O
< Q|
—~|
Qo
Q.
o
N
VI
=
Q.
Ko}
|
[2)
=)
a
=
o
(&)
__.I_l.l_l.l_l.l.lA

100 —
50




pm8Y RMS (ppm)

corr_usl b

pCIVEY
T TVEY
PO TVEY
p ' OVEY
pE0OVEY
p CoveEY
T OvEY
pO'OVEY
p '6EEY
pE6EEY
pc6eEY
1 6EEY
p0'6EEY
p '8ECY
pE8EEY
pC'3EEY
p1'3EEY
p 0'8EEY
p v LECY
peLEEY
pCLEEY
T LEEY
pO°LEEY
p 'oEeY
pEocey
p COEEY
T OEEY
p0'9EEY
pESEEY
XAtz
T SEEY
p0'SEEY
pCvEEY
T VEEY
pO'vEEY
p 7' EEEY
pEeeey
pceeer
T EEEY
poeeey
pcceer
P cEEY
pO'ceer
peIEEY
A4
pL ICEY
pO'TEEY
p °0EEY
p£0EEY
pCOEEY
T 0EEY
p 0°'0EEY

S d 444 d 88 el dddddddddddddddddddddddddddddddddiddd

(wdd) siny

0



1D pull distribution

—0.005586 + 0.07419

Mean

0.535 +0.05246

Std Dev

Underflow

Overflow

0.8396/ 2

X2 / ndf

18.61+4.08

Constant

0.03464 + 0.10903

Mean

0.6364 +0.1597

Sigma

14.88 /51 {
232.7 + 270.2

X2 / ndf

pO

pm4eX (ppb)

corr_usr_b

—_._:._ e _._._:_:_

' TvEY

b 272514

0'TVEY
v oveEy
S oveEY
C'oveEY

-rovey

0'0vEY
V'6EEY
£'6EEY
C'6EEY

-U'6EEY

0'6EEY
'8EEY
£'8eey
C'8ELY

-I'8EeY

0'8EEY
V' LEEY
'LEEY
C'LEEY

R VA 14

0'LEEY
'9EeY
£'9EeY
C'9EEY

-qL'9EEY

0°9gey
£'SEEY
C'SEEY

-l'SeEEy

0'SEEY
(%334

-Lveey

0'vEEY
V'EEEy
c'eeer
(2234

-Jreeer

0'eeey
c'ceey

-qreeer

0'ceey
c'1eey
[Aa2234

i 234

0'TEEY
'0EeY
£0eey
c'0gey
[L'0EEY
0°0EEY

4000

2000

2000

4000 —

o

0 o

o o o !



pm4eX RMS (ppm)

corr_usr_b

c'TvEY
TTvey
0'TvEY
v'orey
eovey
covey
Tovey
oovey
v'6eey
£'6EeY
ceeey
T'6EEY
0'6EEY
¥'8eey
£'8eey
z'8eey
T'8eey

0'8eey
v'ieey
gleey
cLeey
VA4

o'Leey
v'ogey
£'9gey
¢'9gEY
Togey

0'9gey
£'qeey
2'seey
T'SeEey

0'seeYy
cveey
Tveey

o'veey
v'eeey
eeeey
ceeey
Teeey

oeeey
ceeey
Teeey

oceey
eTeey
c'Teey
T'TEEy

o'TEEY
v'ocey
goeey
cogey
Toeey

o'ogey

________
o o
o e}
< ™

(wdd) sy



© ~ © o ~« @ I
§ I ; § % 8
S 8 g S o 2
o o s 0z on H
+ + © 9
g3 & 3 8
2 8 ? o
S
z =
wmmmm o
c g S € & £ & § g
|2 & 5 &8 = 8 2 &
=
=}
o)
=
f=1
0
© -
=
o
o
i
L ' 1 L
o [Te) o
[32) ~N N
I
— -
[To @)
~m
o<
00+_
O
!
O <
<
N
G—
©
c
~
<2
—
o)
o
o
N—r
>
()
£
o
o
r_
)]
>
u
S
o
(&




pm4eY RMS (ppm)

corr_usr_b

—l_-

_________
N o [e0]
N N —

(wdd) sny

©
—

<
—

N O oo o
—

<

N

c'TvEY
TTvey
0'TvEY
v'orey
eovey
covey
Tovey
oovey
v'6eey
£'6EeY
ceeey
T'6EEY
0'6EEY
¥'8eey
£'8eey
z'8eey
T'8eey
0'8eey
v'ieey
gleey
cLeey
VA4
o'Leey
v'ogey
£'9gey
¢'9gEY
Togey
0'9gey
£'qeey
2'seey
T'SeEey
0'seeYy
cveey
Tveey
o'veey
v'eeey
eeeey
ceeey
Teeey
oeeey
ceeey
Teeey
oceey
eTeey
c'Teey
T'TEEy
o'TEEY
v'ocey
goeey
cogey
Toeey
o'ogey



VO TNONT WO

cococo n_u.0.0.0.

@ o~ o =} — < ~ <
@ ~ ~ - o ~
3 & 8 ~ 2 3
S 9 [T T = B~
o c i o o H -
+ + 3 H < 1
® ) & 0 <
] o b
s s .
> m 3 € -1
o £ o <] s © —
- § S ¢ § = 2§ g b
o s B 5 S %« 8 2 & E
2 ]
5 -
b -
= —
b= _
2 —]
= p
a -
(a)] ]
— ]
P R S [ TR TR S T MR BT 1 M L
n o [Te) o wn o
N N - —
I —
o
o
~ . D E———
i
_nm ™
o +l q-
: .
o™ % °
L
—/. L g
© .
I L
—_— e —
Y— @
© L
< °
-~ °
N =]
mxp R °
o A
o @
N—r T
x .
© ®
< .
€ s
o
o] — e
r_
)] 4
>
u — 1 o
= @
o
: :
°
—_——
—
@




pm4aX RMS (ppm)

corr_usr_b

_______________________________________ | 17

o o o o o o (@] o
(c0} N~ © Lo < ™ N —

(wdd) sny




1D pull distribution
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pm12X RMS (ppm)

corr_usr_b
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X2 1 ndf 35.66 / 51
po -85.61+ 41.1
[ ]

—

1D pull distribution

121~

101

Mean 0.01092 + 0.1148

Std Dev  0.8281+ 0.0812

Underflow 0

— Overflow 0
X2/ ndf 3.199/5

— Constant 12.92 +2.34

Mean 0.1466 + 0.1382

Sigma 0.8387 + 0.1169
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1D pull distribution
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1D pull distribution
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